


A)Germany loses part of its territory at the hands of France, Belgium, Denmark and
Poland.

B) The regime of the Tsars ends in Russia and the Bolsheviks come to power and sign a
ceasefire with the Central Empire.

() Serbia is invaded.

D) Germany invades Luxembourg and Belgium so the French, British and Belgian
armies are forced to retreat.

E) ltaly declares war to Austria-Hungary.

F) Germany sends its submarines to the Atlantic to sink ships heading the United
Kingdom because the country now is focuses on war on the economic front.

G) A peace treaty is signed at Versailles and the Austra-Hungary and the Ottoman
empires are disolved so new countries are formed.

H) The USA joined the Allies.

I) A young Serbian nationalist from Bosnia murdered the heir to the throne of Austria
and his wife in Sarajevo and the Austria-Hungary Empire accusses Serbia of the attack
and declares war.

J) Germany uses zeppeline airships to drop bombs and submarines to sink ships.

K) The Ottoman Empire decides to support Germany in the war so new fronts are
created.

L) In Germany the armistice is signed and the Great War comes to an end.

M) Japan declares war against Germany.

N) Germany bombards Paris but the French army counterattacks and defeat the
Germans and the Allies lead on all fronts.

O) Both sides start using toxic gases as weapons.
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